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Q.2 In a certain code language, FLEXIBLE is coded as 42-30-44-6-18-4-24-10. How
will CEMENTED be coded in that language?

Ans 1. 6-10-26-44-28-40-10-10

2. 46-44-28-44-28-42-22-8

3. 48-10-28-44-26-40-44-12

4. 48-44-28-44-28-40-10-8

Question ID : 8161619357

Status : Not Attempted and
Marked For Review

Chosen Option : --

Q.3 Select the letter from among the given options that can replace the question mark (?) in the
following series.

H, A, T, M, ?, Y

Ans 1. C

2. R

3. X

4. F

Question ID : 8161619536
Status : Answered

Chosen Option : 4

Q.4 Choose the pair that best represents a similar relationship to the one expressed in the
original pair of words. 

Japan : Yen

Ans 1. Belgium : Dollar

2. Norway : Euro

3. Italy : Pound

4. Myanmar : Kyat

Question ID : 8161619748
Status : Answered

Chosen Option : 2

Q.5 Which number will replace the question mark (?) in the following series?

4, 21, 39, 61, 92, 139, ?

Ans 1. 211

2. 212

3. 221

4. 201

Question ID : 8161619867

Status : Not Attempted and
Marked For Review

Chosen Option : --



Q.6 Select the option that is related to the third term in the same way as the second term is
related to the first term. 

GLOBAL : MFLYGF : : TARGET : ?

Ans 1. BUIUKN

2. ZUITKN

3. BUIUNJ

4. ZSQTJN

Question ID : 8161619753
Status : Answered

Chosen Option : 2

Q.7 Select the option that is related to the third term in the same way as the second term is
related to the first term.

Sunday : Thursday :: Friday : ?

Ans 1. Wednesday

2. Tuesday

3. Thursday

4. Saturday

Question ID : 81616110045
Status : Answered

Chosen Option : 2

Q.8 M is the sister of N and O. P is the father of O. Q is the mother of M. Considering this
information, which of the following statements CANNOT be verified?

Ans 1. Q is the mother of N

2. P is the father of M

3. N is Q’s son

4. P is Q’s husband

Question ID : 8161619862
Status : Answered

Chosen Option : 3



Q.9

Ans

1. 

2. 

3. 

4. 

Question ID : 8161619781
Status : Answered

Chosen Option : 3

Q.10 Select the option in which the two numbers are related in the same way as are the two
numbers of the given number-pair.

16 : 128

Ans 1. 30 : 300

2. 24 : 292

3. 15 : 224

4. 20 : 200

Question ID : 8161619569
Status : Answered

Chosen Option : 4



Q.11 Choose the pair that best represents a similar relationship to the one expressed in the
original pair of words. 

Frequency : Hertz

Ans 1. Resistance : Kelvin

2. Energy : Newton

3. Volume : Square metre

4. Heat : Joule

Question ID : 8161619149
Status : Answered

Chosen Option : 4

Q.12 Which letter cluster will replace the question mark (?) in the following series? 

CLAP, BNXT, APUX, ZRRB, ?, XVLJ

Ans 1. YSNF

2. YOTF

3. YTOF

4. YNSF

Question ID : 8161619739
Status : Answered

Chosen Option : 3

Q.13 Select the option that is correct for the bracketed letters with respect to their inclusion in
the given series. 

F, K, H, F, L, A, (S), V, Z, Q, J, (L)

Ans 1. Both the bracketed letters are correct.

2. The first bracketed letter is incorrect and the second bracketed letter is correct.

3. The first bracketed letter is correct and the second bracketed letter is incorrect.

4. Both the bracketed letters are incorrect.

Question ID : 8161619737

Status : Not Attempted and
Marked For Review

Chosen Option : --

Q.14 Select the option that is related to the third term in the same way as the second term is
related to the first term. 

SOLUTE : UNNTVD :: CLUTCH : ?

Ans 1. BNTVBJ

2. EKWSEG

3. BNWSBJ

4. EKTVEG

Question ID : 81616110052
Status : Answered

Chosen Option : 2



Q.15 Arjun walks 22 metres southward. Then turning to his right, he walks 22 metres to reach an
ATM. Then turning to his left, he walks 20 metres to reach a bookstall. Again, he turns to his
left and walks 22 metres to reach his office. How far is he from his starting point?

Ans 1. 40 m

2. 38 m

3. 42 m

4. 44 m

Question ID : 8161619761
Status : Answered

Chosen Option : 3

Q.16

Ans 1. 

2. 

3. 

4. 

Question ID : 8161618978
Status : Answered

Chosen Option : 1

Q.17 Read the given statements and conclusions carefully. Assuming that the information given
in the statements is true, even if it appears to be at variance with commonly known facts,
decide which of the given conclusions logically follow(s) from the statements.

Statements:

1. Some actresses are hair-stylists.
2. All hair-stylists are anchors.

Conclusions:

I. Some hair-stylists are actresses.
II. Some anchors are hair-stylists.

Ans 1. Both conclusions I and II follow

2. Only conclusion I follows

3. Neither conclusion I nor II follows

4. Only conclusion II follows

Question ID : 8161619358
Status : Answered

Chosen Option : 1



Q.18 Which letter cluster will replace the question mark (?) in the following series? 

GOLD, KUJJ, OAHP, SEFV, ?

Ans 1. WIDB

2. WACI

3. WICA

4. WDIB

Question ID : 81616110040
Status : Answered

Chosen Option : 1

Q.19 Select the correct option that indicates the arrangement of the given words in the order in
which they appear in an English dictionary. 

1. Numerous 
2. Navigation 
3. Nomenclature 
4. Necrotizing 
5. Nominate

Ans 1. 2, 4, 3, 5, 1

2. 2, 1, 4, 5, 3

3. 2, 4, 1, 5, 3

4. 2, 3, 4, 1, 5

Question ID : 8161619743
Status : Answered

Chosen Option : 1

Q.20 उस �वक�प का चयन कर�, जो तीसरे श�द से उसी तरह संबं�धत है, जैसे �सरा श�द पहले श�द स ेसंबं�धत है।

हाथी : तुरही : : मेमना : ?

Ans 1. �म�मयाहट

2. गरुगरुाहट

3. चीख़

4. �वेक

Question ID : 8161619147
Status : Answered

Chosen Option : 1



Q.21 Nine friends, Ananya, Bryson, Catalina, Druva, Eva, Fanish, Girik, Hariraj and Kunj are, have
gone for a candle light dinner, and they are sitting around a circle facing the centre. Fanish
is 4th to the right of Ananya, who is 3rd to the right of Bryson. Kunj is 4th to the left of
Bryson and 3rd to the right of Druva. Catalina is 3rd to the right of Hariraj. Eva is 2nd to the
left of Girik. 
Who is sitting between Girik and Eva?

Ans 1. Fanish

2. Catalina

3. Kunj

4. Hariraj

Question ID : 8161619764
Status : Answered

Chosen Option : 1

Q.22 Select the correct option that indicates the arrangement of the given words in a logical and
meaningful order.

1. Microgram
2. Kilogram
3. Milligram
4. Gram
5. Nanogram

Ans 1. 5, 1, 3, 4, 2

2. 3, 5, 1, 2, 4

3. 1, 5, 4, 2, 3

4. 5, 1, 2, 4, 3

Question ID : 81616110042
Status : Answered

Chosen Option : 1

Q.23 Select the correct option that indicates the arrangement of the given words in the order in
which they appear in an English dictionary.

1. Cradle
2. Crown
3. Crockery
4. Cracker
5. Crowd

Ans 1. 1, 4, 2, 5, 3

2. 1, 4, 5, 3, 2

3. 4, 1, 3, 5, 2

4. 4, 1, 2, 5, 3

Question ID : 8161619841
Status : Answered

Chosen Option : 3



Q.24 Select the option that is related to the third term in the same way as the second term is
related to the first term. 

COST : GKWP : : SAND : ?

Ans 1. WWRZ

2. WZWR

3. WVRY

4. WRWZ

Question ID : 8161619751
Status : Answered

Chosen Option : 1

Q.25

Ans

1. 

2. 

3. 

4. 

Question ID : 8161618980
Status : Answered

Chosen Option : 4



Q.26

Ans 1. 

2. 

3. 

4. 

Question ID : 8161619885
Status : Answered

Chosen Option : 4

Q.27

Ans

1. 

2. 

3. 

4. 

Question ID : 8161619579
Status : Answered

Chosen Option : 1



Q.28

Ans

1. 

2. 

3. 

4. 

Question ID : 8161618983
Status : Answered

Chosen Option : 3

Q.29 Which two signs should be interchanged to make the given equation correct?

30 + 2 ÷ 3 × 6 − 5 = 28

Ans 1. + and −

2. × and − 

3. + and ÷

4. × and ÷ 

Question ID : 8161619874
Status : Answered

Chosen Option : 3



Q.30 Which letter cluster will replace the question mark (?) in the following series? 

SAT, TEW, UIZ, VOC, ?, XAI

Ans 1. FUW

2. FEW

3. WUF

4. WEF

Question ID : 8161619738
Status : Answered

Chosen Option : 3

Q.31 Out of three numbers, the ratio between the first and the second number is 6 : 7, and the
ratio between the second and the third number is 8 : 9. If the difference between the first
and the third number is 150, then find the average of the first and the second number.

Ans 1. 502

2. 602

3. 520

4. 620

Question ID : 8161619777

Status : Not Attempted and
Marked For Review

Chosen Option : --

Q.32 Which number will replace the question mark (?) in the following series? 

6, 9, 13, 25, 64, 167, ?

Ans 1. 395

2. 359

3. 375

4. 357

Question ID : 8161619768

Status : Not Attempted and
Marked For Review

Chosen Option : --



Q.33 Two statements are given, followed by four conclusions numbered I, II, III, IV. Assuming that
the information given in the statements is true, even if it appears to be at variance with
commonly known facts, decide which of the given conclusions logically follow(s) from the
statements. 

Statements: 

1. No watch is a cell. 
2. All cells are pendulums. 

Conclusions: 

I. No watch is a pendulum. 
II. No pendulum is a watch. 
III. Some pendulums are cells. 
IV. All pendulums are cells.

Ans 1. Both conclusions I and IV follow

2. Both conclusions I and II follow

3. Only conclusion III follows

4. Only conclusion I follows

Question ID : 81616110059
Status : Answered

Chosen Option : 3

Q.34 उस श� द-यु� म का चयन क��जए �जसके श� द� के म� य वही संबंध है जो �दए गए श� द-यु� म के श� द� के म� य है।

फैलाना : दबाना

Ans 1. प�व� : अप�व�

2. सौ� य : मृ�

3. अ�न� छुक : संकोची

4. शांत : दयालु

Question ID : 8161619850
Status : Answered

Chosen Option : 1

Q.35 Select the correct option that indicates the arrangement of the given words in a logical and
meaningful order.

1. Muscat
2. Royal Opera House
3. World
4. Oman
5. Asia

Ans 1. 3, 2, 4, 1, 5

2. 3, 4, 5, 1, 2

3. 3, 5, 4, 1, 2

4. 3, 5, 1, 4, 2

Question ID : 8161619844
Status : Answered

Chosen Option : 3



Q.36 In a certain code language, NIMBLE is written as SFRYQB. How will GOVERN be written in
that language?

Ans 1. LKAAWJ

2. MBLBWI

3. LAKAJW

4. LLABWK

Question ID : 8161619754
Status : Answered

Chosen Option : 4

Q.37 Gunaranjan started walking towards the north from his house, and then he took a right turn
and walked a while to reach the post office. From there he took a left turn and walked a
while to reach a supermarket, and finally he took a right turn to reach the office. In which
direction was he facing at last?

Ans 1. West

2. East

3. South

4. North

Question ID : 8161619860
Status : Answered

Chosen Option : 2

Q.38 ‘Laboratory’ is related to ‘Scientist’ in the same way as ‘Kitchen’ is related to ‘______’.

Ans 1. Utensils

2. Chef

3. Spices

4. Food

Question ID : 8161619346
Status : Answered

Chosen Option : 2

Q.39

Ans 1. 

2. 

3. 

4. 

Question ID : 8161618982
Status : Answered

Chosen Option : 4



Q.40 Select the option that is related to the third number in the same way as the second number
is related to the first number and the sixth number is related to the fifth number. 

15 : 38 : : 17 : ? : : 19 : 50

Ans 1. 45

2. 47

3. 44

4. 41

Question ID : 8161619170
Status : Answered

Chosen Option : 3

Q.41 Five houses, A, B, C, D and E, are located in a colony. A is 48 m north to D. E is 20 m east to
B. B is 35 m south to D. D is 20 m west to C. In which direction and at what distance is A
located with reference to B?

Ans 1. North, 83m

2. North, 68m

3. South, 83m

4. South, 68m

Question ID : 8161619365

Status : Not Attempted and
Marked For Review

Chosen Option : --

Q.42 Study the given pattern carefully and select the number that can replace the question mark
(?) in it.

6 8 10
6 18 12
12 ? 24

Ans 1. 24

2. 72

3. 30

4. 38

Question ID : 8161619773

Status : Not Attempted and
Marked For Review

Chosen Option : --

Q.43 In a certain code language, NORMAL is written as DIPKRO and OBTAIN is written as
DYLKRQ. How will PROFIT be written in that language?

Ans 1. IRFUMQ

2. IERLUP

3. IFRMUQ

4. IREULP

Question ID : 8161619755

Status : Not Attempted and
Marked For Review

Chosen Option : --



Q.44 Select the correct combination of mathematical signs to replace the * signs and to balance
the given equation. 

306 * 17 * 38 * 2 * 41 = 53

Ans 1. ÷, +, ×, −

2. ÷, +, −, × 

3. +, ÷, −,×

4. +, ÷, ×, −

Question ID : 8161618975
Status : Answered

Chosen Option : 1

Q.45 If BEST is coded as 4321 and MAKE is coded as 7983, then how will BEAT be coded?

Ans 1. 4391

2. 3419

3. 3491

4. 4319

Question ID : 8161619856
Status : Answered

Chosen Option : 1

Q.46 Select the option that is related to the third number in the same way as the second number
is related to the first number.

36 : 162 :: 24 : ?

Ans 1. 138

2. 183

3. 180

4. 108

Question ID : 8161619871
Status : Answered

Chosen Option : 4

Q.47 The marks obtained by three students, Akun, Vishwaj and Sarayu, in a mathematics test are
in the ratio of 14 : 16 : 24. If sum of the marks obtained by them is 162, then find the ratio
between the difference of the marks obtained by Vishwaj and Akun and the difference of the
marks obtained by Sarayu and Vishwaj.

Ans 1. 4 : 1

2. 1 : 4

3. 3 : 4

4. 4 : 3

Question ID : 8161619876

Status : Not Attempted and
Marked For Review

Chosen Option : --



Q.48 ‘U + V’ means ‘U is the brother of V’,
‘U × V’ means ‘U is the husband of V’, and
‘U ÷ V’ means ‘U is the mother of V’.

If ‘Y × X ÷ R + N × P ÷ S + M’, then which of the following statements is correct?

Ans 1. N is the father of M

2. S is the son of R

3. X is the mother of P

4. Y is the mother of N

Question ID : 8161619863
Status : Answered

Chosen Option : 1

Q.49 Which number will replace the question mark (?) in the following series? 

18, 22, 13, 29, 4, 40, –9, ?

Ans 1. 45

2. 65

3. 56

4. 55

Question ID : 8161619766

Status : Not Attempted and
Marked For Review

Chosen Option : --

Q.50 Select the option in which the numbers are related in the same way as are the numbers in
the given set. 

(4, 7, 38)

Ans 1. (5, 10, 43)

2. (11, 31, 158)

3. (6, 23, 118)

4. (8, 19, 98)

Question ID : 8161619772
Status : Answered

Chosen Option : 4

Q.1 The Jim Corbett National Park is situated in which state of India?

Ans 1. Karnataka

2. Bihar

3. Uttarakhand

4. Rajasthan

Question ID : 81616110118
Status : Answered

Chosen Option : 3

Section : General Awareness



Q.2 Who among the following was an eminent physician?

Ans 1. Morarji Desai

2. Bidhan Chandra Roy

3. Jyoti Basu

4. Aruna Asaf Ali

Question ID : 8161619228
Status : Not Answered

Chosen Option : --

Q.3 Zika virus was first discovered in 1947 and is named after the Zika ______ in Uganda.

Ans 1. desert

2. river

3. hill

4. forest

Question ID : 8161619001
Status : Not Answered

Chosen Option : --

Q.4 Article 300A of the Constitution of India deals with:

Ans 1. financial emergency

2. all-India services

3. right to education

4. right to property

Question ID : 8161619931
Status : Answered

Chosen Option : 4

Q.5 The Food Corporation of India was set up in ______ under the Food Corporations Act, 1964
with the primary objective of purchasing, storing, moving / transporting, distributing and
selling foodgrains and other foodstuffs.

Ans 1. 1972

2. 1969

3. 1965

4. 1970

Question ID : 8161619395
Status : Answered

Chosen Option : 3



Q.6 �न�न�ल�खत म� स ेकौन अरे�खत मांसपे�शय� का एक उदाहरण है?

Ans 1. भुजा� क� मांसपे�शयां

2. ने� म� पुतली (प�रता�रका) क� मांसपे�शयां

3. �दय संबंधी मांसपे�शयां

4. पैर� क� मांसपे�शयां

Question ID : 8161619802
Status : Answered

Chosen Option : 2

Q.7 A safety seat belt in a car exerts a force on our body to:

Ans 1. facilitate some kind of backward motion

2. make our forward motion faster

3. rule out any kind of backward motion

4. make our forward motion slower

Question ID : 8161619211
Status : Answered

Chosen Option : 4

Q.8 Ostriches were found in India during the Palaeolithic period. Large quantities of ostrich egg
shells were found at ______.

Ans 1. Inamgaon

2. Patne

3. Patna

4. Chirand

Question ID : 8161619422
Status : Answered

Chosen Option : 2

Q.9 Which of the following Committees is associated with the ‘Ecology of Western Ghats’?

Ans 1. Gadgil Committee

2. Sarkaria Committee

3. Khan Committee

4. Mishra Committee

Question ID : 8161619604
Status : Answered

Chosen Option : 1



Q.10 During which of the following sessions of Indian National Congress did Subhash Chandra
Bose resign from the Presidentship of INC?

Ans 1. Tripuri

2. Calcutta

3. Jaipur

4. Haripura

Question ID : 8161619425
Status : Answered

Chosen Option : 2

Q.11 जब �म�ण म� भारी घटक पानी म� �मलान ेके बाद नीच ेबैठ जाता है, तो इस ���या को � या कहा जाता है?

Ans 1. छानना (sieving)

2. �े�श�ग (threshing)

3. सू�ण (yarning)

4. अवसादन (sedimentation)

Question ID : 8161619901
Status : Answered

Chosen Option : 4

Q.12 Chemical disinfection of drinking water can be done using:

Ans 1. bromine

2. fluorine

3. chlorine

4. iodine

Question ID : 8161619898
Status : Answered

Chosen Option : 3

Q.13 Who is the Visitor of the Pondicherry University?

Ans 1. Lt. Governor of Puducherry

2. Vice President of India

3. President of India

4. Prime Minister of India

Question ID : 8161619232
Status : Answered

Chosen Option : 1



Q.14 In 2020, Scientists from Agharkar Research Institute, Pune, discovered two new species of
a plant group known as pipeworts, from the:

Ans 1. Thar Desert

2. Himalayas

3. Western Ghats

4. Eastern Ghats

Question ID : 8161619202
Status : Not Answered

Chosen Option : --

Q.15 As per the Indian Minerals Yearbook 2015, which state is the largest producer of mica in
India?

Ans 1. Odisha

2. Uttar Pradesh

3. Telangana

4. Andhra Pradesh

Question ID : 81616110115
Status : Not Answered

Chosen Option : --

Q.16 The Consumer Price Index or CPI is an index used to calculate the ______ of a country.

Ans 1. forex

2. GDP growth

3. Income tax

4. retail inflation

Question ID : 8161619394
Status : Answered

Chosen Option : 4

Q.17 Which of the following is a cause of pollution of water resources?

Ans 1. Dead aquatic plants

2. Deforestation

3. Dead aquatic animals

4. Radioactive substances

Question ID : 8161619911
Status : Answered

Chosen Option : 3



Q.18 In December 2020, which of the following states launched a campaign called ‘Varasat’ to
curb property and land-related disputes in rural areas?

Ans 1. Uttar Pradesh

2. Bihar

3. Odisha

4. Rajasthan

Question ID : 8161619390
Status : Not Answered

Chosen Option : --

Q.19 In 2020, the Council of Scientific and Industrial Research (CSIR) and KPIT Technologies
successfully ran trials of India’s first Hydrogen Fuel Cell (HFC) prototype car running on an
indigenously developed fuel cell stack at CSIR-National Chemical Laboratory, ______.

Ans 1. Delhi

2. Chandigarh

3. Pune

4. Hyderabad

Question ID : 8161619614
Status : Answered

Chosen Option : 1

Q.20 With which of the following states does Tripura share a common border?

Ans 1. Arunachal Pradesh

2. West Bengal

3. Assam

4. Nagaland

Question ID : 8161619421
Status : Answered

Chosen Option : 3

Q.21 Gandhiji started his famous Dandi March from:

Ans 1. Sevagram Ashram

2. Sabarmati Ashram

3. Porbandar House

4. Agra Fort

Question ID : 8161619623
Status : Answered

Chosen Option : 2



Q.22 Who among the following won the ‘ICC Spirit of Cricket Award of the Decade’ in December
2020?

Ans 1. Sachin Tendulkar

2. Kumar Sangakkara

3. Jacques Kallis

4. MS Dhoni

Question ID : 8161619827
Status : Answered

Chosen Option : 4

Q.23 On which day does India observe National Consumer Day?

Ans 1. 23rd August

2. 24th December

3. 1st January

4. 5th January

Question ID : 8161619389
Status : Not Answered

Chosen Option : --

Q.24 The _______ receives blood from the right atrium and pumps it to the lungs, where it is
loaded with oxygen.

Ans 1. right ventricle

2. left ventricle

3. left atrium

4. mitral valve

Question ID : 8161619199
Status : Answered

Chosen Option : 1

Q.25 Malicious software is any program or file that is harmful to a computer user. Which of the
following is malicious software?

Ans 1. Malware

2. Nero Burning ROM

3. Bonjour

4. CCleaner

Question ID : 8161619886
Status : Answered

Chosen Option : 1



Q.26 Regur Soil is another name of:

Ans 1. Black Soil

2. Alluvial Soil

3. Laterite Soil

4. Red and Yellow Soil

Question ID : 8161619417
Status : Answered

Chosen Option : 1

Q.27 Which state became the first ‘Har Ghar Jal State’ in India with 100% tap water connections
in October 2020?

Ans 1. Goa

2. Gujarat

3. Haryana

4. Punjab

Question ID : 8161619889
Status : Answered

Chosen Option : 1

Q.28 Which of the following Articles of the Constitution of India cites that it is the duty of every
citizen of India to develop a scientific temper, humanism and the spirit of inquiry and
reform?

Ans 1. 73

2. 65B

3. 51A

4. 101

Question ID : 8161619429
Status : Answered

Chosen Option : 3

Q.29 Which of the following micro-states/micro-nations formally joined the International
Monetary Fund (IMF) on 16 October 2020 becoming the crisis lender’s 190th member state?

Ans 1. Sealand

2. Liechtenstein

3. Andorra

4. San Marino

Question ID : 81616110092
Status : Not Answered

Chosen Option : --



Q.30 Who among the following is NOT included in the ICC Men’s T20 Team of the Decade as per
the list released by International Cricket Council (ICC) on 27 December 2020?

Ans 1. Lasith Malinga

2. Pat Cummins

3. Jasprit Bumrah

4. Rashid Khan

Question ID : 8161619835
Status : Answered

Chosen Option : 2

Q.31 The Kudankulam Civilian Nuclear Power Plant was built by India in joint collaboration with
______.

Ans 1. France

2. Russia

3. Japan

4. Germany

Question ID : 8161619400
Status : Not Answered

Chosen Option : --

Q.32 A ______ is a passive two-terminal electrical component that implements electrical
resistance as a circuit element.

Ans 1. capacitor

2. resistor

3. diode

4. transistor

Question ID : 8161619810
Status : Answered

Chosen Option : 3

Q.33 Who among the following discovered vaccination against anthrax?

Ans 1. Maurice Hilleman

2. Edward Jenner

3. Robert Koch

4. Louis Pasteur

Question ID : 81616110113
Status : Answered

Chosen Option : 1



Q.34 Ansupa lake is situated in ______.

Ans 1. Odisha

2. Assam

3. Uttarakhand

4. Bihar

Question ID : 8161619215
Status : Answered

Chosen Option : 1

Q.35 A simple pendulum consists of a small metallic ball or a piece of stone suspended from a
rigid stand by a thread. The metallic ball is called the ______ of the pendulum. 

Ans 1. hinge

2. bob

3. knob

4. head

Question ID : 81616110103
Status : Answered

Chosen Option : 2

Q.36 Which of the following is NOT necessarily a part of a school laboratory compound
microscope?

Ans 1. Mirror

2. Objective lens

3. Eye-piece

4. Camera

Question ID : 8161619010
Status : Answered

Chosen Option : 4

Q.37 With reference to computers and the internet, which of the following appears to be harmless
but actually produces harmful results?

Ans 1. Worm

2. Trojan horse

3. Patch

4. Virus hoax

Question ID : 81616110087
Status : Answered

Chosen Option : 2



Q.38 As of December 2020, how many RAMSAR sites does India have?

Ans 1. 47

2. 38

3. 49

4. 42

Question ID : 8161619607
Status : Answered

Chosen Option : 4

Q.39 As of December 2020, Neiphiu Rio is the Chief Minister of ______.

Ans 1. Sikkim

2. Nagaland

3. Arunachal Pradesh

4. Manipur

Question ID : 8161619430
Status : Answered

Chosen Option : 2

Q.40 Which of the following is NOT a type of rock?

Ans 1. Igneous

2. Metamorphic

3. Ox-bow

4. Sedimentary

Question ID : 8161619020
Status : Answered

Chosen Option : 3

Q.41 Which of the following is NOT a noble gas?

Ans 1. Argon

2. Boron

3. Krypton

4. Neon

Question ID : 8161619806
Status : Answered

Chosen Option : 2



Q.42 The velocity-time graph for uniform motion of a car is:

Ans 1. a straight line with non-zero slope and intercept

2. a parabola

3. a straight line passing through the origin

4. a straight line parallel to the time axis

Question ID : 8161619014
Status : Answered

Chosen Option : 3

Q.43 Which of the following Sultanats was ruled by the Nizam Shahi Dynasty?

Ans 1. Golconda

2. Ahmednagar

3. Bijapur

4. Berar

Question ID : 8161619626
Status : Not Answered

Chosen Option : --

Q.44 Union Budget 2020-21 allocated ______ crore for the overall healthcare sector.

Ans 1. ₹69,000

2. ₹35,000

3. ₹75,000

4. ₹82,000

Question ID : 8161619196
Status : Answered

Chosen Option : 3

Q.45 The National Education Policy 2020 has set the target to increase public investment in the
education sector to reach ______ per cent of Gross Domestic Product (GDP) at the earliest.

Ans 1. 8

2. 7.5

3. 6

4. 7

Question ID : 8161619192
Status : Answered

Chosen Option : 1



Q.46 Which of the following sports will make its Olympic Games debut at the 2024 Paris Games
(2024 Summer Olympics)?

Ans 1. Cricket

2. Bowling

3. Breaking

4. Kabaddi

Question ID : 8161619934
Status : Answered

Chosen Option : 4

Q.47 Who among the following launched E-Sampada, a web portal and mobile app on Good
Governance Day in December 2020?

Ans 1. Prakash Javadekar

2. Narendra Singh Tomar

3. Mahendra Nath Pandey

4. Hardeep S Puri

Question ID : 81616110090
Status : Answered

Chosen Option : 1

Q.48 Which of the following statements is correct?

Ans 1. 2 members of the Lok Sabha are nominated by the Speaker of the Lok Sabha.

2. 12 members of the Rajya Sabha are nominated by the President.

3. 4 members of the Lok Sabha are nominated by the President.

4. 2 members of the Rajya Sabha are nominated by the Chairman of the Rajya Sabha.

Question ID : 81616110132
Status : Answered

Chosen Option : 2

Q.49 The East India Company acquired a charter from the ruler of England, Queen Elizabeth I,
granting it the sole right to trade with the East in the year:

Ans 1. 1600

2. 1800

3. 1401

4. 1500

Question ID : 8161619825
Status : Answered

Chosen Option : 1



Q.50 The Radcliffe Line demarcates India’s border with which of the following countries?

Ans 1. Bangladesh

2. Nepal

3. Pakistan

4. China

Question ID : 8161619921
Status : Answered

Chosen Option : 3
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